How could I solve this number sentence?

10+2=

What could T use to help me?




How could I solve this number sentence?

20+7

What could T use to help me?




How could I solve this number sentence?

24-6

What could T use to help me?




How could I solve this number sentence?

30-10

What could T use to help me?




Can you help me crack a code?

a b c d e f g h i j k L m
1 2 3 4 5 6 7 8 9 10 11 12 13
n o p q r s t u v w X y z
14 15 16 17 18 19 20 21 22 23 24 25 26
2+1 | 10-2 10+8 18-9 1+18 ' 30-10 7+6 22-21

19+0
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25-5

12-3

4+9

5+0
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@O Q@ Activity:
© (O © | Use the code breaker to help crack the codes to find
the answers to the jokes.

Addition and Subtraction

It's a Cracker!

a|b|c|d|e|f|la|n]|i|i|le]|]t]|m

1 2 3 4 5 6 7 8 9 | 10| 11| 12 | 13

nlo|lp|la|r|s|t|ulv|w|x]|y|c:=

16 | 15|16 [ 17 | 18 [ 19 | 20 | 21 | 22 | 23 | 26 | 25 | 26

1. What kind of ball doesn’t bounce?

(1+0) (20- 1), (10 + &), (20 - 5), (20 + 3), (10 - 8), (5 - 4). (6 + 6), (20 - 8)
2. How do snowmen travel around?

(7-5), (20 +5)

(10-1), (10=7),(5 + 4), (12=9), (18 = 6), (4 + 1)

3. What does Santa do in his garden?

(4 +4),(20-5), (3 +2)

(10-2),(10+5), (6+1) (6+2), (146 +1),(5+0)
> < 4. What does Jack Frost like best about school?

(20 - 1), (10 + &), (20 - 5), (20 + 3)

(5-4), (9 +5), (10-6)
+ - (16 +4), (3 +2), (6 +6), (10 +2)

— 5. What is green, covered in tinsel and says, “Ribbit?"

(20 - 7), (12 - 3), (15 + 4), (30 - 10), (5 + 7), (10 - 5), (14 + &), (17 -2), (7 - 6),

(10-6)
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